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High levels of fertilizer and pesticides, needed when farmers fry 10
produce high yields of the same crop year after year, pollute watar
supplies. Experis therefore urge farmers to diversify their crops
and to rotate their plantings yearly.

To recene governmental price-support benefits for & crop. farmers
must have produced that same crop for the past several years,

The statements abowve, f frue, best support which of the following
conclusions?

2 The rules for governmental support of farm prices work against
efforts to reduce water pollutor,

> The only solution to the problem of water pollution from fertilizers
and peslicides is fo take farmland out of produchon.

> Farmers can continue ta make a profit by rotating diverse crops,
thus reducing costs for chemicals, but not by planting the same
crop each yvear.

< New farming technique s will be developed to make it possible for
farmers to reduce the applicaton of ferklizers and pesticides.

@ Covernmental price supports for farm products are set at levels
that are not high enough to allow farmers to get out of debt.

S=al

High levels of fertlizer and pesficides, neaded when farmers fry to
praduce tigh yields of the same crop year after year, poliute water
supples. Experts theraefore urge farmers to dversify their crops
and fo rofate their plantings yearhy.

To receve governmental price-support benefits for 3 crop, farmers
must have produced that same crop for the past several years.

The staterments above, f true, best support which of the following .
conclusions?

O The rules for governmental suppor! of farm prices work against
efforts to reduce water polluton,

= The only solution to the problem of water pollution from fertilizers

_ and pesticides is 10 take farmland out of praduction.

> Farmers can continue to make a profit by ratating diverse crops,
thus reducing costs for chemicals, but not by planting the same
crop each year,

2 New farming techriques will be developed to make it possible for
farmers to reduce the application of fertlizers and peshcides.

@ Governmental price supports for farm products are set af levels
that are not high enough 1o allow farmers to get out of debt.
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The average life expectancy for the United States population as a whole is 73.9 years, but children
born in Hawaii will live an average of 77 years, and those born in Louisiana, 71.7 years. If a newlywed
couple from Louisiana were to begin their family in Hawaii, therefore, their children would be expected
to live longer than would be the case if the family remained in Louisiana.

Which of the following, if true, would most seriously weaken the conclusion drawn in the passage?

A. Insurance company statisticians do not believe that moving to Hawaii will significantly lengthen

the average Louisianan’s life,

B. The governor of Louisiana has falsely alleged that statistics for his state are inaccurate,

C. The longevity ascribed to Hawaii's current population is attributable mostly to genetically

determined factors.

D. Thirty percent of all Louisianans can expect to live longer than 77 years.

E. Most of the Hawaiian Islands have levels of air pollution well below the national average for the

United States,
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(If a newlywed couple from Louisiana were to begin their family in Hawaii, therefore, their children
would be expected to live longer than would be the case if the family remained in Louisiana) ,MitHER
HAETERRMAOFEHEGR 77 & , TOTERE 55 B 2 AR HH A B #1271.7 % (children born in Hawaii will
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If a newlywed couple from Louisiana were to begin their family in Hawaii, therefo.re., their children
expected to live longer than would be the case if the family remained in Louisiana. |
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So...

This shows that ...

Therefore ...

We can infer that . ..

Hence . ..

Consequently . ..

It follows that ...

This indicates that . ..

For that reason, we may say ...
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The reason is that . ..

Because . ..

Since ...

Evidence . ..

On the basis of . ..

It follows from ...

In view of ... »

We may infer from . ..

*EW%%%&W%%W%@%E%%%%@ﬁ@%ﬁﬁ%ﬁ%?ﬁﬁﬁﬁﬁ%%oE@%Eﬁ
PR TSR AN R AT E A gap, BIE% . REFLE0 2 1% HX A gap (%), AR5 &k [ %
E@%WﬁcWLE%%¢%?ADﬁﬁmﬁﬁ%§¢%*4*@%%@&%”&@%%%%%%%%
RR". SR 88T B 52 22 Ry .

Premises 4+ Assumptions = Conclusion
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2. B=E w9 %EE?&EEB@%)W;%Q#E’J Every virtue is laudable; kindness is a virtue;
therefore, kindness is laudable, Hﬁ%fﬁiﬁgﬁﬁﬁﬂﬁ%ﬁﬂ% A—B |iiH B—~C,# 2 A—~C,
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A recent spate of launching and operating mishaps with television satellites led to a corresponding
surge in claims against companies underwriting satellite insurance. As a result, insurance premiums
shot up, making satellites more expensive to launch and operate. This, in turn, has added to the pres-
sure to squeeze more performance out of currently operating satellites.

Which of the following, if true, taken together with the information above, best supports the con-
clusion that the cost of television satellites will continue to increase?

A. Since the risk to insurers of satellites is spread over relatively few units, insurance premiums

are necessarily very high.

B. When satellites reach orbit and then fail, the causes of failure are generally impossible to pin-
2.



point with confidence.
C. The greater the performance demands placed on satellites, the more frequently those satellites
break down.
D. Most satellites are produced in such small numbers that no economies of scale can be realized.
E. Since many satellites are built by unwieldy international consortia, inefficiencies are inevitable.
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if A and only if A, then B: A—B
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Hil 55 8 ( Weaken)
RRAT O J5 33 (Paradox Questions)
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6. 1B A/ M B (Reasoning/Evaluating Questions)
7. BikaFERE
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@ If the statements above are true, which of the following must also be true?

@ Which of the following is [implied, must be true, implicit, most reasonably drawn] in the pas-

sage above?

® Which of the {ollowing conclusions can most properly be drawn if the statements above are true?

@ Which of the following inferences is best supported by the statement made above?

® Which of the following statements about ... is best supported by the statements above?

® Which of the following best states the author’s conclusion in the passage above?

@ Which of the following conclusions can be most properly drawn from the data above?
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A, BATEE — BB T ARRR 22 E,

HE
The cost of producing radios in Country Q is ten percent less than the cost of producing radios in
Country Y. Even after transportation fees and tariff charges are added, it is still cheaper for a company
to import radios from Country Q to Country Y than to produce radios in Country Y.
The statements above, if true, best support which of the following assertions?
A. labor costs in Country Q are ten percent below those in Country Y.
B. importing radios from Country Q to Country Y will eliminate ten percent of the manufacturing
jobs in Country Y.

C. the tariff on a radio imported from Country Q to Country Y is less than ten percent of the cost
of manufacturing the radio in Country Y.

D. the fee for transporting a radio from Country Q to Country Y is more than ten percent of the
cost of manufacturing the radio in Country Q.

E. it takes ten percent less time to manufacture & radios in Country Q than it does in Country Y.

T 5:Q HASKRENMAAL Y EEFET 10%, mEH Q EHO® Y &, B0 sk &
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1) Cost(Q) = Cost(Y) X (1 —10%)

2) Cost(Q) + Cost(transportation + tariff) < Cost(Y).

B HRN2)HREH,

Cost(Y) X (1 —10%) + Cost(transportation + tariff) << Cost(Y), A 55

Cost(transportation + tariff) << Cost{(Y) X 10%

W oK, Cost(tariff) << Cost(Y) X 10% :

HAXFRERRE B QEHOKENE Y BRNXBMERT Y HAFKRIVIERAR 10%,
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